I
I

L

M3 FE

THIFEEXRDEERERARREMRETM

Uil 75 B B

EE B KT

17 B Z=BEBHEEXE
=1 B Z=BBHEEXE
BOMS REXRHE
BEES 18-14-21-039



BHHEENRE SHIBEE KRS 225 BER R BB oM

% R B - RRSTiE BfL % B B ff ® # m o=
E R 3,726, 756
B 3,726, 756
EY B 3,726, 756
BERWERG 3,554,114
BERBERRG 2,945,614
1-1 BERBBREMHKE (1XHBLHY) 1.00 1, 328, 000. 00 1,328, 000
e

1-2 BEBBREERE GIHIA—/— 1.00 1,617, 614.00 1,617,614

L1) .

=
HEEHE 608, 500
1-3 J|EHRE 1.00 608, 500. 00 608, 500

=
E#EEE 172, 642
EBRERE 144, 652
1-4 EIRISAE 1.00 144, 652. 00 144, 652

=
EHRARE 217,990
1-5 EHRARE 1.00 27, 990. 00 27,990

=
EEANER 1,513,211
REREES 1,513,211
BRRE 1,513,211
AE 1,315, 621




BHBEERNRE

BHSEEANERBERRR RIS

Bk

4 [} R - KT iE B = B * H =

fEEETE 81,840

2-1 {EZE5E 1.00 81, 840. 00 81, 840
e

Hith k& 33, 966

2-2 WihpkE [REEZE] 0.27 125, 800. 00 33, 966
km

b RiE = 115, 857

2-3 FIbMEAIE [RREEZE] 0.27 429, 100. 00 115, 857
km

HterAl= 86, 211

2-4 HitbrRlE [REEZE] 0.27 319, 300. 00 86, 211
km

A= 342,630

2-5 MRS [REEZE] 0.27 1, 269, 000. 00 342,630
km

B E 655, 117

2-6 A= (EFEETE) (S=1/500) 1.00 30, 350. 00 30, 350
e

2-7 A= (S=1/500) [RREEZXE] 1.00 624, 767. 00 624,767
=

EERE 197, 590

e E 48,510

2-8 WHEEEAE GAE5) 1.00 48,510. 00 48,510
=

WREXAE 149, 080

2-9 REXEE CAES) EEEER T~ X9 EE (EERH) 1.00 149, 080. 00 149, 080




BHHEENRE SHIBEE KRS 225 BER R BB oM
2 o] B - AR Bif B & #© %

REE 1,810, 467
TEHRAEEHR 1,810, 467
EERE 1, 560, 329
EERE 1, 560, 329
K& 1, 396, 859
3-1 BRR&HERE-1B1H ["E1EX] 1.00 507, 624. 00 507, 624

i
3-2 a7 ["E1EX] 1.00 42,701.00 42,701

i
3-3 a7HER - IR [®E1EX] 1.00 44,734.00 44 734

i
3-4 IR15CBREXER [®E1EX] 1.00 40, 900. 00 40, 900

i
3-5 WIGHEERER [®E1EX] 2.00 57, 900. 00 115, 800

i
3-6 {E1ECBR:RER [®E1EX] 2.00 171, 000. 00 342,000

i
31 7RIZ7Ibary)— FHER 1.00 303, 100. 00 303, 100

%
mE 163, 470
3-8 HMEZERE GRES) 1.00 163, 470. 00 163, 470
%

MiERE 250, 138
MiERE 250, 138
E ik 201, 946
3-9 HHEH AHnE#E EEN) ~EEERET 1.00 201, 946. 00 201, 946




BHHEENRE SHIBEE KRS 225 BER R BB oM

% R R - RARSTiE BfL % 8 B ® # m o=
EIEE 10, 922
3-10 EIEEE 1.00 10, 922. 00 10, 922
=
RE - XEE 37,270
11 REXEE GIES) R R g i ~ K2 (ER) 1.00 37,270. 00 37,210
=




BHEERER SHIBEE KRS 225 BER R BB oM

% g R - KSR Bifr B 2 B i & B W =
BRI 3,554,114 + 172,642 3,726, 756
BEEAGE 3,554, 114
BE#RE 172, 642
T DR 3,554,114 x 53.85% ( 35% + (1 — 35%) ) 1,913,890
BRI 3,726,756 + 1,913,890 5, 640, 646
—REERF 5,640,646 x 53.85% ( 35% = (1 — 35% ) ) — 8,133 3,029, 354
KBS 5,640, 646 + 3,029, 354 8,670, 000
EEAEE 1,513,211
HEHE 1,513,211 x 81.0% — 8,911 1,216,789
AEEEE 1,513,211 + 1,216, 789 2,730, 000
BB E TS 2,730, 000
EEREE 1,560, 329
MEREE 250, 138
HEHE 1,810,467 x 56.0% — 4,328 1,009, 533
— AT ERE 1,560,329 + 250,138 + 1,009, 533 2,820, 000
REEHE 2,820, 000
EEHEE 8,670,000 + 2,730,000 + 2,820,000 14,220, 000
HET S L 14,220,000 x 10.00% 1,422,000




BHEERER SHIBEE KRS 225 BER R BB oM

% L] His - BIRTHE AL % i = # m =

feln
18

ARIEH 15. 642, 000




BEf®R -EI/ \vr—> AHBERE KRS 28 B R BRI 4
&5 11
2 BEMKBERE (1£HLY) E3 1
2 s 1BIE - AR B B B & #& W = w =
EE 1]
A 5.00 57, 400. 00 287,000
EE 1]
A 1.00 57, 400. 00 57, 400
®EF (A)
A 9.00 51, 200. 00 460, 800
®EF (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 10. 00 40, 600. 00 406, 000
H®EF (C)
A 2.00 32, 800. 00 65, 600
= it EIHIERNES S 1, 328, 000. 00 1, 328, 000
FHIEERSEE: 5 L
FHHE—EBE : L
&S :1-2
2% BEHKBEMREE PIEIA—/—L o) EE)
2 s 1BIE - AR B B B & #& W = w =
EE 1]
A 2.17 57, 400. 00 124, 558
EE 1]
A 0.35 57, 400. 00 20, 090
®EF (A)
A 5.92 51, 200. 00 303, 104
®EF (A)
A 0.35 51, 200. 00 17,920
HEm (B)
A 8.89 40, 600. 00 360, 934
H®EF (C)
A 10. 96 32, 800. 00 359, 488
®iia
A 14. 88 29, 000. 00 431, 520
= it YEZERED 1. 00 1,617,614.00 1,617,614

FHERESMEE 2L
FHE—IEMHE - BL




BER-EI/\vr— SHBEERSEHBERRBEMER M1
&S5 :1-3
&7 BEHE IEED)
% L g - BT & B =S B il IS w &
BEn &R
A 1.00 65, 500. 00 65, 500
EE3 1]
A 5.00 57, 400. 00 287, 000
®Em (A)
A 5.00 51, 200. 00 256, 000
& &t fE%8EN : 1,00 608, 500. 00 608, 500
FIERERSMEE AL
FHEIEWHE - LU
&S5 .14
&7 : ENRIBAR (B
% L g - BT & B =S B il = w &
RIS AE
® 1.00 144, 652. 00 144, 652
& &t fERREN - 1. 00k 144, 652. 00 144, 652
FIERERSMEE AL
FHE—IEWHE - L
&5 .15
&% EHARE IEED)
% L g - KT & B =S B il IS w &
EHERARE
® 1.00 21, 990. 00 21,990
& &t R8N : 1,00 27, 990. 00 21,990

FEEMSNEE L
FHE—IEWE  TL




BEf®R -EI/ \vr—> AHBERE KRS 28 B R BRI 4
&5 . 2-1
B (ELHE E3 1
2 # 1BIE - AR B B i % w =
B8 AR
A 0. 600 45, 700. 00 27,420
R =
A 0.900 40, 000. 00 36, 000
B RER
A 0. 600 30, 700. 00 18, 420
= it 81, 840. 00 81, 840
HIEERISMEIE 75 L
FHE—IEBE L
£S5 :2-2
L% BhRE  (RAEMEL] Tkmy
2 # 1BIE - AR Bif B i % w =
R =
A 1. 600 43,520.00 69, 632
HERER
A 1.400 33, 910. 00 47,474
BHRE B
% 1.000 117,106. 00 1,17
HHE B
% 6. 500 117,106. 00 7,611
FiLE
% 0. 000 125, 888. 00 0
= it 125, 800. 00 125, 888

FIHERESMEE 2 L
FHE—IEMHE - BL




BfR-BEI/ \vr—>

=

BHMIEEANEEFERWREMHEE M

&5 :2-3
& PIMRAE  [REMEE] Tkm3y
2 b g - BIRTE By = B O ) # " =
il R EEAZETE B
km 1.000 45, 140. 00 45,140
BIERRE %=
km 1.000 293, 700. 00 293, 700
32y AROY 35 B
km 1.000 40, 880. 00 40, 880
mREE B
km 1.000 49, 400. 00 49, 400
& Hi YEEREN 1.00km 429, 100. 00 429,120
T EE L
FHE—REWE : TL
&5 :2-4
&% fiterAlE  [REMEE] Tkm3y
2 b g - BIRTE By = B O ) # " =
£3A %=
km 1.000 203, 500. 00 203, 500
it B E B 4E R B
km 1.000 70, 520. 00 70, 520
mREE B
km 1.000 45, 330. 00 45, 330
& Hi EEREN 1.00km 319, 300. 00 319, 350
T EE L
FHE—REMWE : TL
&5 :2-5
&% HEEAlE  [REEE] Tkm3y
2 b g - BIRTE By = B O ) # " =
£3A g60my AV A FRiRI v FrZEET &MHE
km 1.000 883, 000. 00 883, 000
TEETE e g60my AV A FEiR1 v FRrZEET B
km 1.000 257, 200. 00 257, 200
RREE g60my AV A FEiR1 v FRrZEET B
km 1.000 128, 900. 00 128, 900
& Hi E%HBEH :1.00km 1, 269, 000. 00 , 269, 100

FEEMESNEE L
FH—IEWE Tl




B@R-EI/\vr—> AHBERE KRS 28 B R BRI 4
&S :2-6
ZF . BithRIE (FELEHE) (5=1/500) E3 1
2 # 1BIE - AR B g B % i w =
A= F FHEm
A 0.200 45, 700. 00 9,140
R =
A 0. 300 40, 000. 00 12,000
R = B Eh e
A 0. 300 30, 700. 00 9,210
FiLE
% 0. 000 30, 350. 00 0
= it EIHERNIES S 30, 350. 00 30, 350
HIEERISMEIE 75 L
FIFE—IEMWE - L
&5 :2-1
&% A E (S=1/500) [TRRE1EE] 0.023km2%Y (1)
2 # 1BIE - AR B g B % i w =
e EE nNE &H
= 1.000 441,104. 00 441,104
HERAIE HNExE BE
= 1.000 49,173.00 49,173
HiERE RE B
= 1.000 86, 521. 00 86, 521
HEMBRT—2 771 ILDER A% B
= 1.000 47,969. 00 47,969
= it YEZERED 1. 00 624, 767. 00 624, 767

FEEMSNEE L
FHE—IEWHE  TL




B@R-EI/\vr—> AHBERE KRS 28 B R BRI 4
&S5 :2-8
2% | WEEBEE GUES) Ee)
2 # 1BIE - AR B g B % W o= w =
T 400W 24T
B 12. 000 2, 850. 00 34, 200
RIBER [(HV) LTS U] 3kVA
B 12. 000 1, 000. 00 12,000
PR
% 5.000 46, 200. 00 2,310
= it YEZERED 1. 00K 48,510. 00 48,510
HIEERISMEIE 75 L
FIHE—IEME L
&5 :2-9
L RETAER CIES) BEREET~ANTHS @) % (1)
2 # 1BIE - AR Bif g B % W o= w =
RESEE
= 1.000 149, 080. 00 149, 080
= it YEZERED 1. 00 149, 080. 00 149, 080

FEEMSNEE L
FHE—IEWE  TL




Bffik-fEI/\vr—>

THSEEARNER B ERRRERFRE MG

&5 : 3-1
& BIERSGEHE-RIE  [RREMEE) EREY
£ 5 L - BIRTiE BAf = B & % = " =

FEHERES wm

A 1.00 38, 080. 00 38, 080
hERES wm

A 2.00 28, 750. 00 57, 500
BREx£a wm

A 1.00 22,410. 00 22,410
TEFEE wm

A 3.00 19, 290. 00 57,870
AsEhiZERRNY5- 4 YTV Y18 ik ~50cm

m 8.00 4,076.00 32, 608
N by (ho-3) [HZ2#] 1L1F50. 28m3.~ F550. 2m3

= 2.00 32, 980. 00 65, 960
8797 F59h TvR-F -7 47 0] 4135

= 3.00 37, 300. 00 111, 900
REBO—> (BER) [ FAHCFKX] 0.8~1.1t¢

= 1.00 2,900. 00 2,900
SUTEH 60~80k g

= 1.00 935. 00 935
IREIO NN A EH 70~80kg

= 1.00 965. 00 965
it 400W 2T

= 2.00 2,850.00 5,700
HEME s - MEE

% 10. 00 220, 968. 00 22,096
FAZ7IILEEEY (hO) 25 $120mm

t 3.00 11, 600. 00 34, 800
El% &

= 1.00 50, 000. 00 50, 000
MAE AsEEH

t 3.00 1, 300. 00 3,900
& Hi 1YEZHED 1. 00 FRr 507, 624. 00 507, 624

HARKS VY 1

ARGt ARE (o) :1.65

HARYE (8)

:1.20




B@R-EI/\vr—>

THMSFEEARNEH

B

EBRWRERFRE G

&5 :3-2
£ a7 [KEEE] 18T (3A&) &Y (18R
£ b g - BIRTE By H = B ) W = & &
I 7HRE [EETSVAES
B 3.00 10, 556. 25 31, 668
a7Ew MEH 50cm/1A&
cm 150. 00 60. 00 9, 000
HME L Y+a 7 EY MMEH®D
% 5.00 40, 668. 00 2,033
& Hi {EZBEA - 1. 006 R 42,701.00 42,701
HARES VY 1 At AR (o) :1.65 HARK (B) :1.20
&5 :3-3
£ O7EER - BH  [REEXE] 18T (3A&) &Y (1R
£ b g - BIRTE By H = B ) W E & &
J7#EE - 818 [EETSVAES
B 3.00 10, 556. 25 31, 668
a7 Ew MEH 50cm/1A&
cm 150. 00 60. 00 9, 000
HRE L Y+a 7 EY MMEH®D
% 10. 00 40, 668. 00 4,066
& &t {EZHeH - 1. 00T 44, 734. 00 44, 734
HARES VY 1 A AR (o) :1.65 HAGRK (B) :1.20
&5 :3-4
275 . BIGCBREAER  [RAEI1EZX] EGIER
£ b g - BIRTE By B = B ) W E ik &
1715 CBREX BR
AT 1.00 40, 900. 00 40, 900
& Hi {EZBEA - 1. 006 R 40, 900. 00 40, 900

HARKS VY 1

R ARYE (o) :1.65

Ak (8) :1.20




BER-TEIL/\ysr—> AMBEE RS LB BEBRREBRE M4
&5 :3-5
&% BISEESRER [REEZE] EEER
% g1 R - BAKTiE By = B ) i E s &
HI5E AR WERE
Eleid 1.00 17, 900. 00 17, 900
EEEDHIZL S TOHERHRER £%E1CBR
Eleid 1.00 40, 000. 00 40, 000
& &t VEZEEH : 1. 00E AT 57, 900. 00 57, 900
HRRHES VY 1 MBS (o) :1.65 AR (B) :1.20
&S .36
&% {EIECBRERER [WEEX] EEER
% gl R - BAKTiE By = B ) i E s &
{EIECBREAER
Eleid 1.00 171, 000. 00 171, 000
& &t VEZEEH : 1. 00E AT 171, 000. 00 171, 000
HRRHES VY 1 AL A®RE (o) :1.65 AR (B) :1.20
&5 .31
¥ FRAI7Ibary ) — R 1%y
% gl R - BAKTiE By = B ) i E s &
BOBEDETRAI7IL MEEYMOZEERER
Sk 15. 00 2, 640. 00 39, 600
7 A7 7L DEYRERER
Sk 5.00 36, 700. 00 183, 500
FAI77IL D AERER
Sk 5.00 5, 760. 00 28, 800
T A7 7L OB ARER
Sk 5.00 6, 960. 00 34, 800
T—I v LREERR
# 5.00 3, 280. 00 16, 400
4 it VEZEEH : 1. 00 303, 100. 00 303, 100

HARKS VY 1

eI ARYE (o) :1.65

Ak (8) :1.20




B@R-EI/\vr—> AHBERE KRS 28 B R BRI 4
&5 : 3-8
2 MEBERE BREH) Ee)
2 # 1BIE - AR B g B % W o= w =
Hh B I BT
A 1.90 47, 500. 00 90, 250
IEMERES
A 1.50 35, 000. 00 52,500
WEREE
A 0.80 25, 900. 00 20,720
= it YEZERED 1. 00K 163, 470. 00 163, 470
BEAGRRS VY 1 MARELFRS (@) : 1.65 BRAFRY (B) :1.20
£S5 :3-9
L HEER K5 S (ERH) ~EHREmH 1ty
2 # 1BIE - AR Bif g B % W o= w =
Hh B I BT
A 4.00 47, 500. 00 190, 000
REE SA4 kN2 2L
B 2.00 5,973.00 11, 946
= it YEZERED 1. 00 201, 946. 00 201, 946
BEAGRKS VY 1 MARELFRE (@) : 1.65 BRAFRY (B) :1.20
&5 :3-10
2 mIEEE 13ty
2 # 1BIE - AR Bif g B % W o= w =
BIEEE
= 1.00 10, 922. 00 10, 922
= it YEZERED 1. 00 10, 922. 00 10, 922

HARKS VY 1

R ARYE (o) :1.65

10

Ak (8) :1.20




BfR-BEI/ \vr—>

BHMIEEANEEFERWREMHEE M

&5 3-11
& REXEE GAES) BRREET~KXSEHE (EERES) IEED)
£ 5 L - BIRTiE BAf = B & # = & &
WERXEE
= 1.00 37, 270. 00 317,270
& Hi 1YE%HeRH 1,00 37, 270. 00 317,210
HARKS VY 1 RefAE AR (o) :1.65

"

AR (8) :1.20




